
Physics 10310 Exam #3 Formulas
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∑ ~F = ~Ftot = m~a = d
dt ~ptot

Won object =
∫ ~Fon object · d~r ∆U = −W ∆K = W ∆Ugravity = mg∆h

Power = ~F · ~v = ~τ · ~ω = W/∆t Fx, spring = −kx Uspring = 1
2
kx2 circular motion : Fin = mv2

r

Kf + Uf = Ki + Ui + Winto system Klin = 1
2
mv2

|~Fkinetic friction| = µkFnormal |~Fstatic friction| ≤ µsFnormal

~p = m~v ~J = ∆~p = ~pf − ~pi ~vc.m. = d~rc.m.

dt Elastic :vi + vf = Vi + Vf

Mtotxc.m. =
∑

i mixi ~ptot = Mtot~vc.m. Ugrav = Mtotgyc.m.
~Fnet = d~Pc.m.

dt


